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All Candidates' performance across questions

| Question Title N Mean S E Max Eark F ! Attempt ; |

1a 7715 16 0.7 2 79.9 99.6
2a 7648 0.5 0.5 1 46.7 98.8
2c 7708 0.1 0.4 1 14.8 99.5
4a 7533 1.1 0.9 2 55.1 97.3
5 7630 2.7 0.9 3 88.4 98.5
6b 7611 1.6 0.8 2 78.5 98.3
7b 7243 17 0.8 2 82.6 93.5
8 7328 2.5 1.8 5 49.5 94.6
9b 6309 1.9 1.4 3 64.1 81.5
11 6935 0.5 0.9 3 15.7 89.5
13 7529 0.5 1.1 3 17.6 97.2
15 7014 1.4 15 4 34.5 90.6
17 7295 15 16 5 30.5 94.2
19a 6754 1.2 1.4 3 39 87.2
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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11. Calculate the volume of a pyramid with a base area of 13200 cm? and a perpendicular height of
460cm.
Give your answer in m®, (3]

Diagram not drawn to scale
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Diagram not drawn to scale
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11. 13200 x 460 =+ 3 M1 | Or equivalent.
= 2024000 (cm®) Al

=2.024(m°%) B1 Stgrict FT of a correct conversion of their volume to
m°.

Alternative method

Sight of 1.32 AND 4.6 B1

1.32x4.6+3 M1 | FT ‘their 1.32’ and ‘their 4.6’ from place value errors
for M1A1.

= 2.024(m°) Al











11. Calculate the volume of a pyramid with a base area of 13200 cm? and a perpendicular height of
460cm.
Give your answer in m®, (3]

Diagram not drawn to scale
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Sticky Note

Incorrect formula.
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Sticky Note

Incorrect conversion of cm cubed to metre cubed.
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Diagram not drawn to scale




Sticky Note

Not realising that the formula for the volume of a pyramid requires the base area which is already given.  Furthermore, this has resulted in an incorrect premature approximation.










11. Calculate the volume of a pyramid with a base area of 13200 cm? and a perpendicular height of
460cm.
Give your answer in m3. [3]

Volume= ... m3











15. Express the following as a single fraction in its simplest form.

[4]
2 7

3x—5 11x—13

AT O I ¥ =" N
(3x-%)( Iz ~13) (3x-5)(Ux~13)
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15. Sight of 22x — 26 — 21x + 35 or equivalent. B2 | Award B1 for sight of 2(11x — 13) — 7(3x — 5) OR
three of the four terms correct.
Denominator of (3x — 5)(11x — 13) B1 | Must be seen or stated as the denominator.

x+9 or x+9 Bl CAO. Mark final answer.
(3x—5)(11x—13)  33x2-94x+65











15. Express the following as a single fraction in its simplest form. [4]

2 17
3x—5 1lx-—13

tix-B) . _F(3x=5)
(3x-%)( Iz ~13) (3x-5)(Ux~13)

R e IR B e e
(3% -5)(lx-13) (32¢-5) (lix-13)

2z =Sl =3




Sticky Note

Incorrect sign of terms within brackets which are subtracted when an expression is being simplified.  In this case it should be +35, not -35.













Sticky Note

The resultant denominator should be the product of the individual denominators.










Mx- ml’sx 5)




Sticky Note

Misconception that the denominator must be expanded in an algebraic fraction.










15. Express the following as a single fraction in its simplest form. [4]

2 7
3x—5 11x—13

Examiner
only











17. Solve the equation 2x + 5)(3x-11) = 7.
Give your answers correct to 2 decimal places. [5]
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17. Solve the equation (2x + 5)3x—-11) = 7.
Give your answers correct to 2 decimal places. 5]

............................................................

(3x.3:5+5) (3::3 90 (IR T2 B
(2x34+S)x (3x349= 113 e
(9-“3 85"’3) (3"'285 ")vgqgs..f““ﬁ (o;.u ....................
(3% 3: 8035 )2 (3x: k-l )= T30 = T, high .
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17. 6x? — 22x + 15x — 55 (=7)
6x>—7x—62=0

—(=7)%y/(=7)?-4x6X(=62)
2X6

(x =)

_ 7+£+1537
- 12

Xx=3.85 AND x=-2.68 (answers to 2dp)

Bl
Bl

M1

Al

Al

CAO. '=0'may be implied in further working.

FT ‘their derived quadratic equation’ set to zero and
of equivalent level of difficulty (a, b and ¢ are non-
zero).

Allow one slip in substitution, but must be correct
formula.

If one slip seen award AO.

CAO for 'their equation'.
Note: no marks to be awarded for 1 correct solution
from trial and improvement.











17. Solve the equation 2x + 5)3x—-11) = 7.
Give your answers correct to 2 decimal places. [5]
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Sticky Note

The correct answers to this question are, 3.85 or -2.68.
Candidate has incorrectly inputted -7 into the b^2 term of the discriminant.
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Sticky Note

Not equating the quadratic equation to zero before using the quadratic formula.










17. Solve the equation (2x + 5)3x—-11) = 7.
Give your answers correct to 2 decimal places. 5]

(ax3:5+5) (3x3 O I BB
(2% 3.4+5.)x (3x39~ n) LT
(223:85+3)x (3% 2-85-11) = 6 ‘195 L 76 tom ....................
(3% 3: 8035 )2 (3x: k-l )= T30 = T, high .
(2. 3:854 + S (3% 3. 8391} F.141 <= Teo baigh....
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Sticky Note

Not realising that this is ultimately a quadratic expression and the quadratic formula should be used, not trial and improvement.










17. Solve the equation 2x + 5)3x-11) = 7.
Give your answers correct to 2 decimal places. [5]
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18. Make ¢ the subject of the following formula. [4]

\[gcz—-v=c











18. Make ¢ the subject of the following formula.

\’gcz —-y=c

[4]

C’= 0V
ucs




Sticky Note

Not squaring both sides of the equation, to remove a square root.










TO-WiaKe T e SUDJECT O e TONOWINg Torang. (4]







TO-WiaKe T e SUDJECT O e TONOWINg Torang. (4]




Sticky Note

Misconceptions in using surds in expressions, i.e. 
root(a-b) does not equal root(a)-root(b).






18. Make ¢ the subject of the following formula. [4]

chz—-v =c







18. Make ¢ the subject of the following formula. [4]

chz—-v =c




Sticky Note

Failure to appreciate that the subject must be only on one side of the equal sign in an equation when the formula is completely rearranged.






18.
For sight of gc? — v = ¢?

c?(g—1)=vORgc>—c?*=v0OR —v =c?—gc?

g-1 1-

g
c=(i)\/g OR (i)\/g

Bl

Bl

Bl

Bl

FT a formula with three or more terms AND with at
least two terms in c?.
FT until 2™ error for equivalent level of difficulty.











18. Make c the subject of the following formula. [4]

\/gcz—v:c

Examiner
only











